
In vigore dal - Effective from    15-12-202160

AC

AA

AA

Y

A

B
DC

N

AB

O U1U1U2 / U3 U2 / U3 U2 / U3

W W
X

A

E

W

F

W

SUPPORTI ASSALE
AXLE SUPPORTS

V

G H

W

I

W

J

W

K

W

Z

P
S

Q R
T

V

L

V

M

Tav. 28



Rif. Cod. AXLE'S SUPPORTS ￥

28 Description Tax  included
A 0048.A2 Semiguscio cuscinetto assale Ø 25 mm Axle's monocoque Ø 25 mm 0
B 0048.FA Supporto assale Ø 25 mm Mini Exp Axle's support Ø 25 mm for Mini Exp 0
C 0048.FB ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ D.30 ROCKY/ROOKIE Axle's support Ø 30 mm for Rookie - Mini - Nordix 18,040
D 0048.FC ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ D.30 NEOS/ROOKIE EV Forged Axle's support Ø 30 mm for Neos 23,870
E 0048.KDEBA ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ D.40-50/3P (ﾄﾞﾗｲﾌﾞ/中側)

Axle's forged AL concentric support Ø 40 - 50 mm 3 position -
central / right 29,700

F 0048.KDEBASX ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ D.40-50/3P (ﾌﾞﾚｰｷ側）
Axle's forged AL concentric support Ø 40 - 50 mm 3 position -
left 29,700

G 0048.KDEBACE ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ D.40-50/ｾﾝﾀｰ/3P (OK)
Axle's forged AL concentric support Ø 40 - 50 mm 3 position -
central OK-OKJ 29,700

H 0048.KDEBB ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ ｵﾌｾｯﾄ5mm/3P (ﾄﾞﾗｲﾌﾞ/中側)
Axle's forged AL misaligned support 5 mm Ø 40 - 50 mm 3
position - central / right 29,700

I 0048.KDEBBSX ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ ｵﾌｾｯﾄ5mm/3P (ﾌﾞﾚｰｷ側）
Axle's forged AL misaligned support 5 mm Ø 40 - 50 mm 3
position - left 29,700

J 0048.KDEBC ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ ｵﾌｾｯﾄ10mm/3P (ﾄﾞﾗｲﾌﾞ/中側)
Axle's forged AL misaligned support 10 mm Ø 40 - 50 mm 3
position - central / right 29,700

K 0048.KDEBCSX ﾍﾞｱﾘﾝｸﾞﾎﾙﾀﾞｰ ｵﾌｾｯﾄ10mm/3P (ﾌﾞﾚｰｷ側）
Axle's forged AL misaligned support 10 mm Ø 40 - 50 mm 3
position - left 29,700

L 0048.KDEBBCE Axle's forged AL misaligned support 5 mm central 29,700
M 0048.KDEBCCE Axle's forged AL misaligned support 10 mm central 29,700
N 0226.EB ﾘｱﾌﾞﾚｰｷｷｬﾘﾊﾟｰｻﾎﾟｰﾄ 180mm BS6(ｵﾌｾｯﾄ5mm)

Rear caliper's support for disk Ø 180 mm (misaligned axle's
support 5 mm) 20,020

O 0226.EC ﾘｱﾌﾞﾚｰｷｷｬﾘﾊﾟｰｻﾎﾟｰﾄ 180mm BS6(ｵﾌｾｯﾄ10mm)
Rear caliper's support for disk Ø 180 mm (misaligned axle's
support 10 mm) 20,020

P 0049.B0 Cuscinetto assale Ø 25 x 50 mm Axle's bearing Ø 25x50 mm 0
Q 0049.BA Cuscinetto assale Ø 25 x 60 mm Axle's bearing Ø 25x60 mm 0
R 0049.00 ｼｬﾌﾄﾍﾞｱﾘﾝｸﾞ D.30x60 Axle's bearing Ø 30x60 mm 8,360
S 0049.A0 Cuscinetto assale Ø 40 x 80 mm Axle's bearing Ø 40x80 mm 0
T 0049.DA ｼｬﾌﾄﾍﾞｱﾘﾝｸﾞ D.50-80 Axle's bearing Ø 50x80 mm 12,100

U1 0219.00 ｼｬﾌﾄﾍﾞｱﾘﾝｸﾞｲﾓﾈｼﾞ M8x1mm Axle's locking bearing M8x1 mm 88
U2 0219.A0 ｼｬﾌﾄﾍﾞｱﾘﾝｸﾞｲﾓﾈｼﾞ M6x1mm Axle's locking bearing M6x1 mm 88
U3 0219.B0 ｼｬﾌﾄﾍﾞｱﾘﾝｸﾞｲﾓﾈｼﾞ M6x0,75mm Axle's locking bearing M6x0,75 mm 88
V V.TCE6X30 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X30 TCEI screw 6x30 mm 44
W V.TCE6X35 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X35 TCEI screw 6x35 mm 44
X V.TCE6X40 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X40 TCEI screw 6x40 mm 55
Y V.TCE8X20 ｷｬｯﾌﾟﾎﾞﾙﾄ 8X20 TCEI screw 8x20 mm 66
Z V.TE8X25 ﾍｷｻｺﾞﾝﾎﾞﾙﾄ 8X25 TE screw 8x25 mm 66

AA R.P.8X17 ﾜｯｼｬｰ D.8X17 Washer Ø 8x17 mm 22
AB R.P.8X17X3 ﾜｯｼｬｰ D.8x17x3 Washer Ø 8x17x3 mm 44
AC D.M8A.B. ﾛｯｸﾅｯﾄM8（ﾅｲﾛﾝ) A.B. nut M8 33


